Tuesday 30.06.2020
Fluent in Five
1. 2,517 – 1,876 =
2. 187 + ___ = 1,014
3.  + __ = 1
4. 9 x 12 x 10 =
5. 1.8 – 0.4 =
Times Table Rockstars
Spend 10 minutes on TT Rockstars (ON SOUNDCHECK PLEASE!)
Maths Task – Counting in Fractions
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1) Complete the number ine by filing in the missing fractions.

13 1 Tond

2) Write these fractions in ascending order

4 4% 2 2% 5 3 1% 3% 1

3) Three children have been asked to identify the missing fraction on the number line.
Who is correct? Who is incorrect? Explain why.
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4) ‘sl comes atter z% because z% is the same as Ls‘

Is this statement true or false? Prove it by drawing a number line.




